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SRI SAI COACHING CENTRE 
2/25, Raja Mill Road, Madurai-1 

TRB – P.G. – MATHS – 2018 – Model - I 
Name: ………………                                       

Roll: ………………...                   30.09.18 

1. The square root of 8 –  15𝑖 is ……………. 

 A) 
1

√2
 (5 –  3𝑖)  B) 

1

√2
 (−5 –  3𝑖)  C) ±

1

√2
 (−5 –  3𝑖)    D) ±

1

√2
 (5 –  3𝑖)    

2. Which one is incorrect? 

 A) 𝑎𝑟𝑐 𝑐𝑜𝑠 𝑤 =   𝑖 𝑙𝑜𝑔 (𝑤 ±  √𝑤2 −  1)   B) 𝑎𝑟𝑐 𝑐𝑜𝑠 𝑧 =   𝑖 𝑙𝑜𝑔 (𝑧 +  √𝑧2 −  1)   

 C) 𝐷 𝑎𝑟𝑐 𝑐𝑜𝑠 𝑧 =  
1

√1 − 𝑧2
      D) 𝐷 (𝑐𝑜𝑠𝑧)   =  𝑠𝑖𝑛 𝑧 

3. Which one is incorrect? 

 A) A mapping by the conjugate of an analytic function with a non-vanishing derivative 

      is indirectly conformal 

 B) Indirectly conformal preserves both the size and the sense of angles 

 C) If the mapping of  by 𝑤 =  𝑓(𝑧) is Analytic, then the inverse function               

       𝑧 =  𝑓−1(𝑤) is analytic 

 D) None of these 

4. Match the following: 

a Circles of Apollonius with limit points a and b 1. An orientation of C 

b Denote by C1 the circles through a and b by C2 

the circles of Apollonius with these limit 

points.  Then the circles C1 and C2 will be 

referred to as 

2. |
𝑧 − 𝑎

𝑧 − 𝑏
| =  

𝜌
|𝑘|⁄ , where |𝜔| =  𝜌,  

    concentric circles about origin 

c The lines u = constant and V = constant 

corresponds to two families of mutually 

tangent circles which intersect at right angles 

3. Circular net (or) Steiner circles  

     determined by a and b 

d An ordered triple of points z1, z2, z3 on circle C 

determines the 

4.  Degenerate set of Steiner  

     circles 

  

 Codes: a b c d   a b c d 

  A) 2 3 4 1  B) 2 4 3 1 

  C) 3 2 4 1  D) 4 3 2 1 

5. The fixed points of the linear transformation  𝜔 =  
2𝑧

3𝑧 −  1
    

 A) 𝑧 =  0, 1  B) 𝑧 =  1
3⁄      C) z = 1  D) None of these 

6. Let 𝑃(𝑥)  =   𝑥5  +   5𝑥4  +   10𝑥3  + 10𝑥2 −  𝑥 − 2  is irreducible over Q and have 

 exactly two non real roots then the splitting field of P(x) over Q has of degree 
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 A) 25   B) 125   C) 120  D) 121 

7. If 1 is the characteristic root of 𝐴 =   (𝛼𝑖𝑗) [𝑖𝑒 1 − 𝐴 𝑖𝑠 𝑛𝑜𝑡 𝑖𝑛𝑣𝑒𝑟𝑡𝑖𝑏𝑙𝑒]  then 

 i. For every j, Σ𝑖  𝛼𝑖𝑗   =  1   ii. For every i, Σ𝑖  𝛼𝑖𝑗   =  1   

 iii. For every j, Σ𝑗  𝛼𝑖𝑗  =  1   iv. For each i, Σ𝑗  𝛼𝑖𝑗  =  1    

 A) i, ii   B) ii, iii  C) iii, iv  D) i, iv 

8. Find the inverse of 3 −  √2   ∈   𝑄√2     

 A) 
3

7
  +   

1

7
 √2    B) 3 +  √2     C) 

3

7
  −   

√2

7
     D) √2  −   3   

9. The necessary and sufficient conditions on a and b so that the splitting field of 

 irreducible polynomial  𝑥3  + 𝑎𝑥 + 𝑏   has degree 3 over Q  

 A) −4𝑎3  −   27𝑏2   ∈   𝑄     B) 4𝑎3 +  27𝑏2   ∈   𝑄     

 C) √−4𝑎3  −   27𝑏2    ∈   𝑄       D) √4𝑎3 +   27𝑏2    ∈   𝑄       

10. Let F be a field and Let F (𝑥1 , 𝑥2  , … … . 𝑥𝑛)  be the field of rational functions              

 in 𝑥1 , . . . 𝑥𝑛  over F suppose that S is the field of symmetric rational Functions then

  

 i. [𝐹 (𝑥1  ,   … … . 𝑥𝑛)  ∶ 𝑆]  =   𝑛!      

 ii.  (𝐹 (𝑥1  ,   … … . 𝑥𝑛)  ∶ 𝑆)  =   𝑆𝑛 ,  the symmetric group of degree n 

 A) i is true      B) ii is not true         C) i and ii are not true          D) i and ii are true 

11. Median of following frequency distribution is  

 x : 1 2 3 4 5 6 7 8 9 

 f : 8 10 11 16 20 25 15 9 6 

 A) 60   B) 65   C) 4   D) 5 

12. Choose the wrong 

 A) Median is not at all affected by extreme values 

 B) Median can be calculated for distribution with open – end classes 

 C) Mean could not be calculated for distribution with open-end classes 

 D) Harmonic Mean is easily understood and is not difficult to compute 

13. Choose the wrong one 

 A) For any Discreate distribution, standard deviation is not less than mean deviation  

 from mean 

 B) Mean deviation from mean is  
𝑛 (𝑛+1)  𝑑

2𝑛+1
  and SD is √

𝑛 (𝑛+1)

3
 × 𝑑  of A.P.  a, a+d,  

       …….., a + 2nd 

 C) In (B) the latter is greater than the former 

 D) Mean is a + (n – 1) d of A.P.  a,  a+d, ……. a + 2nd. 

 

14. Choose the wrong one 
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 A) In a deviations are small compared with mean M so that (𝑥
𝑀⁄ )

3
  and higher powers 

 of (𝑥
𝑀⁄ )  are neglected, we have (G – GM, H – HM,   - S.D. M – AM) 

  i. G = M (1 −  
1

2

𝜎2

𝑀2
) ii. 𝑀2  −   𝐺2  =   𝜎2     and   iii. H = M (1 −   

𝜎2

𝑀2
) 

 B) Coefficient of Dispersion (based of SD) = 
𝜎

 𝑥 ̅̅ ̅
 

 C) Coefficient of Variation  =  
𝜎

 𝑥 ̅̅ ̅
  × 100 

 D) Coefficient of Dispersion (based on Q.D) = 
𝑄3 +  𝑄1

𝑄3 −  𝑄1
 

15. Given      Firm A  Firm B 

 Number of workers   500   600 

 Average of daily wage  186   175 

 Variance of distribution    81   100 

 Which one is more variable 

 A) Firm A  B) Firm B C) both A and B  D) Neither A nor B  

16. Bessel’s equation of order zero is 

 A) 𝑥2 𝑦"  +   𝑥𝑦′  +   (𝑥2  −  𝑛2) 𝑦 = 0    B) 𝑥 𝑦"  +   𝑦′  +   𝑥 𝑦 = 0   

 C) 𝑥2 𝑦"  +   𝑥𝑦′  +   𝑥 𝑦 = 0     D) None 

17. In terms of Legendre polynomials  2 − 3𝑥 +  4𝑥2  is  

 A) 
1

3
 (10 − 9𝑃1 +  8𝑃2)     B) 

10

3
 +   3𝑃1 +  

8

3
 𝑃2   

 C) 
10

3
  𝑃0 +   3𝑃1 +  

8

3
 𝑃2       D) 

10

3
 −  3𝑃1 −  

8

3
 𝑃2     

18. Find the P.I. of (𝐷2 +  1)𝑦 =   𝑠𝑖𝑛𝑥 sin 2𝑥    

 A) 
𝑥 cos 𝑥

       4        
  -  

cos 3𝑥

16
      B) 

cos 𝑥

       4        
  +  

cos 3𝑥

16
      

 C) 
𝑥 cos 𝑥

       4        
  +  

cos 3𝑥

16
      D) 

cos 𝑥

       4        
  +  

x cos 3𝑥

16
    

19. Solve (1 + 𝑥𝑦)𝑦 𝑑𝑥 +   (1 − 𝑥𝑦) 𝑥𝑑𝑦 = 0 

 A) 
1

2𝑥2 𝑦2
= 𝐶     B) log 𝑥 − 𝑥𝑦 = 𝐶    

 C) log
𝑥

𝑦
 +   

1

𝑥𝑦
 =   𝐶    D) log

𝑥

𝑦
  −   

1

𝑥𝑦
 =   𝐶     

20. Solve (𝑥 tan
𝑦

𝑥⁄ −  𝑦 𝑠𝑒𝑐2  
𝑦

𝑥⁄ )𝑑𝑥 + 𝑥 𝑠𝑒𝑐2  
𝑦

𝑥 ⁄ 𝑑𝑦 = 0    

 A) 𝑥 tan
𝑦

𝑥⁄  = C     B) 𝑙𝑜𝑔 tan(
𝑦

𝑥⁄ ) = C     

 C) 𝑦 sec2 𝑦
𝑥⁄  = C     D) None 

21. Let f be the function defined on R by 𝑓(𝑥) =  |𝑥 − 1| +  |𝑥 + 1|, ∀ 𝑥 ∈ 𝑅 .  Then, 

 A) f is derivable at x = 1 and x = -1  B) f is not derivable at x = 1 and x = -1 

 C) f is derivable at x = 1 and not derivable at x = -1 

 D) f is continuous and differentiable at x = 1 and  x = -1 

22. An example of a function on the real line R ie., continuous but not uniformly continuous 

 is  
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 A) Constant function B) Identity function  C) sin x  D) 𝑥2   

23. Which one is incorrect? 

 A) 𝑈 (𝑃1, 𝑓)  ≥ 𝐿 (𝑃2 , 𝑓)       B) 𝐿 (𝑃∗  , 𝑓)   ≥    𝐿 (𝑃, 𝑓)    

 C) 𝐿 (𝑃, 𝑓 + 𝑔) ≥ 𝐿 (𝑃, 𝑓) +  𝐿 (𝑃, 𝑔)    D) 𝑈 (𝑃, 𝑓 + 𝑔) ≥ 𝑈 (𝑃, 𝑓) +   𝑈(𝑃, 𝑔)   

24. Given collection C of even intervals of the form  (−
1

𝑛
  ,

1

𝑛
)  ,  then 

 A) C is a covering of (-1, 2)   B) C is not a covering of (-1, 2) 

 C) Union of intervals is (-1, 1)   D) Both (B) and (C) 

25. If C(x) = (0, x(1), x(2), ………..) is a bounded operator then C(x) is a 

 A) Self Adjoint  B) normal  C) Unitary  D) Not normal 

26. The elementary symmetric functions in 𝑥1  , 𝑥2  ,   𝑥3  𝑖𝑠  𝑎1  =   𝑥1  +  𝑥2  +  𝑥3   ,   

 𝑎2  =   𝑥1 𝑥2  +  𝑥2 𝑥3  +  𝑥1𝑥3  ,   𝑎3  =   𝑥1 𝑥2 𝑥3  then 𝑥1  , 𝑥2 𝑎𝑛𝑑  𝑥3  are root of 

 ………….. 

 A) 𝑡3  −   𝑎1𝑡2  +   𝑎2𝑡 −  𝑎3     B) 𝑡3  −   𝑎1𝑡2 −   𝑎2𝑡 −  𝑎3   

 C) 𝑡3 +   𝑎1𝑡2  +   𝑎2𝑡 +  𝑎3     D) 𝑡3  −   𝑎1𝑡2 −   𝑎2𝑡 +  𝑎3    

27. Let 𝐽(√2) be the ring of real numbers of the form +𝑛√2 , where 𝑚, 𝑛 are integers, with 

the usual addition and multiplication.  Then the kernel of the homomorphism 

𝜙: 𝐽(√2) → 𝐽(√2) defined by ∅(𝑚 + 𝑛√2) = 𝑚 − 𝑛√2 is  

A) 𝐽(√2)  B) empty   C) 0   D) √2 

28. Let ‘a’ be an element of order 12 in a group G.  what is the order of 𝑎9? 

A) 4   B) 3   C) 2   D) 1 

29. The minimal polynomial of (5 + 3√2) over the field of rational numbers Q is : 

A) 𝑥2 + 10𝑥 + 7   B) 𝑥2 − 10𝑥 + 7   

C) 𝑥2 − 10𝑥 − 7   D) 𝑥2 + 10𝑥 − 7 

30. If A is 𝑚 × 𝑛 and B is 𝑛 × 𝑝 matrices with ranks 𝑟𝐴 𝑎𝑛𝑑 𝑟𝐵 respectively and rank of          

(AB) = 𝑟 , then which one of the following is always true? 

A) 𝑟 = min {𝑟𝐴 , 𝑟𝐵}   B)𝑟 = max {𝑟𝐴 , 𝑟𝐵} 

C) 𝑟 ≤ min {𝑟𝐴 , 𝑟𝐵}   D) 𝑟 ≥ 𝑚𝑎𝑥 {𝑟𝐴 , 𝑟𝐵} 

31. For a distribution, the mean is 10, variance is 16 𝛾1 is +1 and 𝛽2  =   4  

 Which one is wrong based on above data about origin 

 A) 𝜇1
′   =  10      B) 𝜇2  =  16  C) 𝜇3  =  256  D) 𝜇4  =  1024   

 

32. A, B and C are three mutually exclusive and exhaustive events associated with random 

 experiment.  The value of P(A) if P(B) = 
3

2
  P(A) and P(C) = 

1

2
 P(B) is 

 A) 
9

13
   B) 

4

13
   C) 

13

4
   D) 

13

9
 

33. A speaks truth 4 out of 5 times.  A die is tossed.  He reports that there is a six.  What is 

 the chance that actually there was six? 
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 A) 
4

9
   B) 

4

30
   C) 

9

30
   D) 𝑁𝑜𝑛𝑒 𝑜𝑓 𝑡ℎ𝑒𝑠𝑒 

34. Let X be a continuous random variable with p.d.f. given by   

                                        𝑓(𝑥) =  {

𝑘𝑥                         0 < 𝑥 < 1
𝑘                              1 ≤ 𝑥 < 2
−𝑘𝑥 + 3𝑘             2 ≤ 𝑥 < 3
   0                        𝑜𝑡ℎ𝑒𝑟𝑤𝑖𝑠𝑒

 

 The value of k is 

 A) 2 3⁄   B) 3 5⁄    C) 1 2⁄    D) Cannot find 

35. If the joint distribution function of X and Y is given  

𝐹𝑋𝑌(𝑥, 𝑦) =   {
1 −  𝑒−𝑥 −  𝑒−𝑦  +  𝑒−(𝑥+𝑦)                       𝑥 > 0, 𝑦 > 0

        0                                         ,         𝑒𝑙𝑠𝑒𝑤ℎ𝑒𝑟𝑒  
 

 Choose the correct answer: 

 A) 𝑓(𝑥, 𝑦) =   {𝑒−(𝑥+𝑦)    ,   𝑥 ≥ 0,    𝑦 ≥   0
     0                 𝑒𝑙𝑠𝑒𝑤ℎ𝑒𝑟𝑒

  B) 
𝑓𝑋(𝑥) =  𝑒−𝑥  ;     𝑥 ≥ 0

𝑓𝑌(𝑦) =  𝑒−𝑦   ;     𝑦 ≥ 0
 

 C) X and Y are independent    D) All of these 

36. Solve  2𝑥𝑧 − 𝑝𝑥2 −  2𝑞𝑥𝑦 +   𝑝𝑞 =   0    

 A) 𝑧 = 𝑎𝑦 + 𝑏 (𝑥2  − 𝑎)      B) 𝑧 = 𝑎𝑥 +   𝑏𝑦 +  𝑥2   

 C) 𝑧 = 𝑎𝑦 +   𝑏𝑥 +  𝑥2     D) None 

37. Form the PDE from  𝑓 (𝑥2  +   𝑦2   ,   𝑧 −   𝑥𝑦) = 0    

 A) 𝑥𝑝 + 𝑦𝑞 =  𝑥2 −  𝑦2      B) 𝑥𝑝 − 𝑦𝑞 =  𝑥2 + 𝑦2     

 C) 𝑥𝑝 − 𝑦𝑞 =  𝑥2 − 𝑦2      D) 𝑥𝑞 + 𝑦𝑝 =  𝑥2 −  𝑦2      

38. 𝐽0
2  +   2 𝐽1

2  +   2𝐽2
2   +   2𝐽3

2  +  … … … … . . = ?      

 A) cosx  B) sin x  C) 1   D) 0 

39. Find the singular solution of p = log (px – y) 

 A) 𝑦 = 𝑐𝑥 −  𝑒𝑐  B) 𝑦 = 𝑥(log 𝑥 − 1)         C) 𝑦 = 𝑐𝑥 + 𝑒𝑐        D) 𝑐𝑥 −  𝑦 = 𝑙𝑜𝑔 𝑐  

40. Solve z(x – y) = 𝑥2 𝑝 −  𝑦2𝑞   

 A) 𝜙 (
1

𝑥
  +   

1

𝑦
   ,   

𝑧

𝑥 + 𝑦
)  =  0    B) 𝜙 (

1

𝑥
 −   

1

𝑦
   ,   

𝑧

𝑥 + 𝑦
)  =  0     

 C) 𝜙 (
1

𝑥
  +   

1

𝑦
   ,   

𝑥−𝑦

+𝑧
)  =  0    D) 𝜙 (

1

𝑥
 −   

1

𝑦
   ,   

𝑥+𝑦

𝑧
)  =  0     

41. Let A  BL (H).  For all x, y  H, then A is unitary iff 

 A) (𝐴 (𝑥), 𝑦)   =   (𝑥, 𝐴(𝑦))       B) (𝐴(𝑥), 𝐴(𝑦))  =  (𝐴∗(𝑥),   𝐴∗(𝑦))   

 C) (𝐴(𝑥), 𝐴(𝑦))  = (x, y) =   (𝐴∗(𝑥),   𝐴∗(𝑦))     D) None of these 

42. Let X be a non-zero Banach space over C and A  BL(X).  Then consider the 

 statements 

 I. Gelfand – Magur theorem:   (A) is non-empty 

 II. Gelfand  - spectral Radius formula: 

   𝑟𝜎(𝐴) =  
𝑖𝑛𝑓

𝑛 = 1, 2, … . .
 ‖𝐴𝑛‖

1
𝑛⁄  =   

𝑙𝑖𝑚
𝑛 →   ∞

 ‖𝐴𝑛‖
1

𝑛⁄     

 Of these 
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 A) I true, II false    B) I false, II true 

 C) I and II are true    D) I and II are false 

43. Which one is incorrect? 

 A) For  1 ≤   𝑃  ≤  ∞  ,  𝑙𝑃  is separable   

 B) For 1 ≤   𝑃  ≤  ∞  , the metric space  𝑙𝑃  is complete 

 C) For 1 < P <  ,  𝑙𝑃  is reflexive 

 D) None of these 

44. Let A be a self – Adjoint operator on a finite dimensional Hilbert space H.  Then every 

 root of the characteristic polynomial of A is ………….. 

 A) real  B) imaginary  C) Both (A) and (B)  D) None of these 

45. Which one is incorrect? 

 A) The Union of a collection of connected subspaces of a topological space  x,  that 

        have a point in common is connected 

 B) Let A be a connected subspace of a topological space  x.  It  A    B     𝐴 ̅̅ ̅  , then B 

      is not connected 

 C) The image of a connected space under a continuous map is connected 

 D) A finite Cartesian product space is connected 

46. If H is a subgroup of G under ‘+’ iff 

A) 𝑎𝑏 ∈ 𝐻, ∀𝑎, 𝑏 ∈ 𝐻   B) 𝑎𝑏−1 ∈ 𝐻, ∀𝑎, 𝑏 ∈ 𝐻  

C) 𝑎 − 𝑏 ∈ 𝐻, ∀𝑎, 𝑏 ∈ 𝐻   D) 𝑎 + 𝑏 ∈ 𝐻, ∀𝑎, 𝑏 ∈ 𝐻 

47. If H is a subgroup of G and N is normal subgroup of G then 𝐻 ∩ 𝑁 is  

A) empty       B) not a subgroup 

C) subgroup of G but not normal subgroup  D) Normal subgroup of G 

48. The Gaussian curvature and total curvature at a every point of a sphere of radius  

a is ……………… 

A) 𝑎2 , 4𝜋  B) 
1

𝑎2
 , 4𝜋  C) 4𝜋, 𝑎2   D) 4𝜋,

1

𝑎2
 

49. If K0 is the Gaussian curvature at the orgin of a geodesic polar coordinate system  

then 

A) 𝑔 (𝑢, 0) ~  
𝑢−𝐾0 𝑢3

6
 𝑎𝑠 𝑢 → 0  B) 𝑔 (𝑢, 0) =   

𝑢−𝐾0 𝑢3

6
 𝑎𝑠 𝑢 → 0  

C) 𝑔 (𝑢, 0) ~  
𝑢+𝐾0 𝑢3

6
 𝑎𝑠 𝑢 → 0  D) 𝑔 (𝑢, 0) =   

𝑢+𝐾0 𝑢3

6
 𝑎𝑠 𝑢 → 0  

50. The Bonnet’s formula for the geodesic curvature of the curve 𝜙 (𝑢, 𝑣) = constant is 

 A) 𝐻𝐾𝑔 =  
𝜕

𝜕𝑢
 (

𝐹𝜙2− 𝐺𝜙1

𝜃
) +

𝜕

𝜕𝑣
 (

𝐹𝜙1+𝐸𝜙2

𝜃
)     

 B) 𝐻𝐾𝑔 =  
𝜕

𝜕𝑣
 (

𝐹𝜙2− 𝐺𝜙1

𝜃
) −  

𝜕

𝜕𝑣
 (

𝐹𝜙1−𝐸𝜙2

𝜃
) 

 C) 𝐻𝐾𝑔 =  
𝜕

𝜕𝑢
 (

𝐹𝜙2− 𝐺𝜙1

𝜃
) +

𝜕

𝜕𝑣
 (

𝐹𝜙1−𝐸𝜙2

𝜃
)     

 D) 𝐻𝐾𝑔 =  
𝜕

𝜕𝑢
 (

𝐹𝜙2+ 𝐺𝜙1

𝜃
) −

𝜕

𝜕𝑣
 (

𝐹𝜙1+𝐸𝜙2

𝜃
) 
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51. If 𝑌 = 5 + 2.8 𝑋 and 𝑋 = 3 − 0.5 𝑌 are the estimated regression equation of Y on X 

and X on Y respectively. 

 Then (I) 𝑏𝑦𝑥 = 2.8 

         (II) 𝑏𝑥𝑦 = 0.5 

 A) Both I & II are true  B) I is true but not II 

 C) II is true but not I   D) given data are incorrect 

52. A Poisson distribution has a double mode at 𝑥 =  1and    𝑥 = 2. Then probability that x 

will have one or the other of these two values is  

 A) 2   B) 2𝑒−2  C) 4𝑒−2  D) 2𝑒+4 

53. Two independent random variates X and Y are both normally distributed with means 1 

and 2 and standard deviations 3 and 4 respectively. Then mean and standard deviation 

of  𝑍 =  𝑋 −  𝑌 are 

 A) 3, 7  B) -1, 1  C) (-1, 25)  D) (-1, 5) 

54. If X is uniformly distributed with mean 1 and variance   
4

3
. Then 𝑃 (𝑋 < 0) 

 A) 
1

4
   B) 

1

2
   C) -1 and 3  D) None of these 

55. Choose the wrong one  

 A) The mean value of positive square root of a 𝛾 (𝜇) variate is 
Γ(𝜇+1

2⁄ )

Γ(𝜇)
 

 B) If X and Y are independent Gamma variate with parameters 𝜇 𝑎𝑛𝑑 𝑣 respectively,  

then variables 𝑢 = 𝑋 + 𝑌, 𝑍 =  
𝑋

𝑋+𝑌
 are independent and that U is a   (𝑢 + 𝑣) 

variate and 𝑧 is a 
1

(𝑢, 𝑣) variate 

C) If X and Y are independent Gamma variates with parameters  and 𝑣 respectively.  

Then 𝑈 = 𝑋 + 𝑌, 𝑍 =  
𝑋

𝑌
 are independent and that U is a   (𝑢 + 𝑣) variate and 𝑧 is a 


1

(𝑢, 𝑣) variate 

D) A random variable X is said to have a binomial distribution if the P.D.F is                

𝑓𝑥(𝑥) =  
1

𝜋 (1 + 𝑥2)
−  ∞ < 𝑥 <  ∞ 

 

56. Let  𝑎𝑛  =   {

1 +  𝑛

𝑛
    𝑖𝑓   𝑛  𝑖𝑠 𝑒𝑣𝑒𝑛

1 −  𝑛

𝑛
  𝑖𝑓   𝑛  𝑖𝑠  𝑜𝑑𝑑

     

 then, 

 A) 𝑙𝑖𝑚 𝑠𝑢𝑝  𝑎𝑛  =   lim inf  𝑎𝑛  =   1    

 B) 𝑙𝑖𝑚 𝑠𝑢𝑝  𝑎𝑛  =   lim inf  𝑎𝑛  =  −1   

 C) 𝑙𝑖𝑚 𝑠𝑢𝑝  𝑎𝑛  =  1  𝑎𝑛𝑑   lim inf  𝑎𝑛  =  −1   

 D) 𝑙𝑖𝑚 𝑠𝑢𝑝  𝑎𝑛  =  −1  𝑎𝑛𝑑   lim inf  𝑎𝑛  =  1   

57. Let  S be a compact subset of a metric space M, then 
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 A) S is open and bounded   B) S is closed and bounded 

 C) S is open and unbounded  D) S is closed and unbounded 

58. A sub set of a countable set is  

 A) Uncountable set    B) Countable set 

 C) Need not be countable   D) Bounded set 

59. The function   𝑓(𝑥)  =   { 𝑥 sin  1 𝑥⁄  ,    𝑥  ≠ 0
            0        ,      𝑥 = 0,    

   is 

 A) Differentiable at  𝑥 = 0      

 B) Discontinuous at  𝑥 = 0      

 C) Twice differentiable at  𝑥 = 0     

D) Continuous at  𝑥 = 0   but not differentiable at  𝑥 = 0    

60. For the function  𝑓(𝑧) =   
sin 𝑧2

𝑧
   ,  z = 0 is 

 A) Removable singularity   B) Simple pole 

 C) Pole of order 2    D) Essential singularity 

61. If we draw a sample of size n from a given finite population of size N, then the total  

number of possible sample is  

A) 
𝑁 !

𝑛!(𝑁−𝑛)!
  B) 

𝑁 !

(𝑁−𝑛)!
  C) 

𝑁 !

𝑁!(𝑁−𝑛)!
  D) None of these 

62. A random sample of 500 apple was taken from a large consignment and 60 were found  

to be bad. The proportion of bad apples in a sample 

A) 0.12  B) (8.61% , 15.38%)    C) Both (A) and (B)  D) None of these 

63. A survey of 800 families with four children each revealed the following distribution 

 No. of boys:  0 1 2 3 4 

 No. of girls:  4 3 2 1 0 

 No. of families: 32 178 290 236 64 

 Then the expected frequency of 3 male birth is 

 A) 300  B) 50   C) 200   D) 800 

64. The mean weekly sales of soup bars in departmental store was 146.3 bars per store. 

After an advertising campaign the mean weekly sales in 22 stores for a typical week in 

creased to 153.7 and showed a standard deviation of 17.2. The t- static is 

 A) 
17.2 × √21

7.4
  B) 

7.4 

17.2  × √21
  C) 

7.4 × √21

17.2
  D) 

7.4 

21
√17.2

⁄
 

65. In a school, there are 1000 students , out of which 430 are girls. It is known that out of 

430, 10% of the girls study in class XII.  What is the probability that a students chosen 

randomly studies in Class XII given that the chosen student is a girl? 

A) 0.1   B) 0.01  C) 0.43  D) 1/43 

66. Which one is incorrect? 

A)  If f(z) is analytic in the whole plane and real on the real axis and imaginary on the  

      imaginary axis, then  f(z) is odd function 
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B)  The Taylor’s series for the function   
1

1 −  𝑧
    at  z  =  0  is     1 – z + 𝑧2  -  𝑧3   +     

       ……………. for  | 𝑧 |  <   1   

 C) f(z)  =  sin z   is an analytic function 

 D) 𝐼𝑚 𝑧,  Re(iz),      𝑧  ̅̅ ̅̅   are not Analytic 

67. The value of  
C

tan z dz,  where C is | 𝑧 | =  2   is  ………….. 

 A) 2𝜋𝑖     B) −4𝜋𝑖   C) 4𝜋𝑖    D) 0 

68. The residue of 
𝑧2  −  1

(𝑧2+ 1)2
  at z = i is ……………. 

 A) 0   B) -1   C) 1   D) 2i 

69. In the laurent’s series expansion of f(z) = 
1

(1−𝑧)  (𝑧−2)
 valid in the domain |𝑧| > 2 , the 

coefficient of 
2

1

z
 is …………. 

 A) 1   B) -1   C) 0   D) -3 

70. If f(z) is analytic function and 𝑓′ (z) is continuous at each point within or on a closed 

curve C, then 
c

zf dz )(  is ………… 

 A) 2𝜋𝑖  B) −2𝜋𝑖  C) 0    D) None of these 

71. If 𝑃𝑥(𝑆) denotes the probability generating function (p.g.f) of the random variable X, 

then the p.g.f. of the random variable 𝑌 = 𝑚𝑋 + 𝑛, where 𝑚 and 𝑛 are intergers (𝑚 ≠

0) is given by  

A)𝑠𝑃𝑥(𝑆)  B)𝑠𝑃𝑥(𝑆𝑚)  C)𝑠𝑚𝑃𝑥(𝑆𝑛)  D) 𝑠𝑛𝑃𝑥(𝑆𝑚) 

72. If  𝑋 is an  𝐹(𝑚, 𝑛) random variable, where  𝑚, 𝑛 > 2, then 𝐸(𝑥). 𝐸 (
1

𝑥
) equals 

A)
𝑚𝑛

(𝑚−2)(𝑛−2)
  B)

𝑚(𝑛−2)

𝑛(𝑚−2)
  C)

𝑛(𝑛−2)

𝑚(𝑚−2)
  D) 

𝑚(𝑚−2)

𝑛(𝑛−2)
 

 

73. In a PERT problem, if the expected time 𝑡𝑒 =
𝑙+4𝑚+𝑛

6
 , then  

A) 𝑛  is the optimistic time, 𝑚 is the pessimistic time and 𝑙 is the most likely time 

B) 𝑚  is the optimistic time, 𝑙 is the pessimistic time and 𝑛 is the most likely time 

C) 𝑚  is the optimistic time, 𝑛 is the pessimistic time and 𝑙 is the most likely time 

D) 𝑙  is the optimistic time, 𝑛 is the pessimistic time and 𝑚 is the most likely time 

74. The non degenerate basic feasible solution to the system of equations  

 𝑥1 + 2𝑥2 + 𝑥3 = 4 & 2𝑥1 + 𝑥2 + 5𝑥3 = 5is 

A) 𝑥1 = 5; 𝑥2 = 0; 𝑥3 = −1  C) 𝑥1 = 0; 𝑥2 = 2; 𝑥3 = 0 

B) 𝑥1 = 0; 𝑥2 = 5
3⁄ 0; 𝑥3 = 1

3⁄   D) 𝑥1 = 2; 𝑥2 = 1; 𝑥3 = 0 

75. If the primal problem is min 𝑍 = 𝐶𝑋 subject to 𝐴𝑋 = 𝑏; 𝑋 ≥ 0 then the  

corresponding dual problem is  

A) min 𝑍∗ = 𝑏𝑇𝑊    B) Max 𝑍∗ = 𝑏𝑇𝑊 
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     subject to 𝐴𝑇𝑊 ≤ 𝐶𝑇         subject to 𝐴𝑇𝑊 ≥ 𝐶𝑇  

 𝑊 ≥ 0          𝑊𝑖𝑠𝑢𝑛𝑟𝑒𝑠𝑡𝑟𝑖𝑐𝑡𝑒𝑑 
 

C) min 𝑍∗ = 𝑏𝑇𝑊    D) min  Z* = bTW 

    subject to 𝐴𝑇𝑊 ≥ 𝐶𝑇        subject to ATW  CT 

     𝑊𝑖𝑠𝑢𝑛𝑟𝑒𝑠𝑡𝑟𝑖𝑐𝑡𝑒𝑑        Wisunrestricted  

76. Let X be a normed  space and let {xn} be a sequence in X. Then which one of the 

following is not true. 

 A) 𝑥𝑛 
w

  x (𝑥𝑛converges weekly to x, then x is unique) 

 B) If 𝑥𝑛 → x in X then 𝑥𝑛 
w

x in X 

 C) If 𝑥𝑛 
w

x in X, then 𝑥𝑛 → x in X 

 D) {𝑥𝑛} is weak convergent in X, then {𝑥𝑛}  is a bounded sequence in X 

77. Let X be a normed space with ‖ ‖ on it. For all 𝑥, 𝑦 ∈ 𝑋, then | ‖𝑥‖ − ‖𝑦‖| 

 A) ≤ ‖𝑥 − 𝑦‖ B) ≥ ‖𝑥 − 𝑦‖ C)  > |𝑥 − 𝑦|  D)= ‖𝑥‖ −  ‖𝑦‖ 

78. An innerproduct space which is complete in the norm induced by the inner product is 

called a 

 A) A Banach space    B) A Hilbert space       C) A Banach algebra D) A dual space 

79. 


0

𝑔(𝑡)(𝑠𝑖𝑛∝𝑡)

𝑡
dt is called as   

 A) Lebesgue intergrals   B) Riemann integrals 

 C) Dirichlet’s integrals   D) Fourier integrals 

80. “If {𝑎𝑘}   and  {𝑏𝑘}are any sequences of real numbers such that Σ (𝑎𝑘
2 +  𝑏𝑘)2 < , then 

there exists fL2 [- , ] whose Fourier coefficients are  precisely the ak and bk” is 

called 

 A) Parsevals theorem  B) Riesz – Fisher theorem 

 C) Jordan’s theorem   D) Weierstrass theorem 

81. The shortest curve joining two fixed points on a given surface  is called a 

 A) Cycloid   B) Geodesic   C) Catenary   D) Helix 

82. If the radius of spherical curvature is constant, the curve 

 A) lies on a sphere              B) has a constant curvature 

 C) either lies on a sphere or has a constant curvature         D) None of these 

83. For the parametric representation of a point on the surface of the                                            

cone : (𝑢 cos 𝑣, 𝑢 sin 𝑣,   𝑢 cot 𝛼)   Which one is incorrect? 

A)  The parametric curves are orthogonal   

B) The Equation to the tangent plane at any  point                                                  

       is (𝑋 − 𝑥) (−𝑢 cos 𝑣 cot 𝛼)   +   (𝑌 − 𝑦)(−𝑢 𝑠𝑖𝑛𝑣 cot 𝛼)  +   (𝑍 − 𝑧)𝑢 =   0      

C) Surface Normal is (− cos 𝑣 cos 𝛼, − sin 𝑣 cos 𝛼, sin 𝛼)   

D) None of these 
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84. “The sum of the normal curvature is equal to the sum of principle curvatures” is 

called………….. 

 A) Dupin’s theorem    B) Rodrigues formula 

 C) Euler’s Theorem    D) Monge’s theorem 

85. Which one is incorrect? 

 A) Torsion of a geodesic on the surface is [𝑁, 𝑁′, 𝑟′] 

B) The surface which contains all the three types of points namely, elliptic, parabolic   

      and hyperbolic points is Anchorring 

 C) Every helix on a cyclinder is a geodesic 

 D) [𝑟′, 𝑟′′ , 𝑟′′′] = k2 

86. The train arrive at the yard in every 15 minutes and the service time is 33 minutes.  

The line capacity of the yard is 4 trains.  Then line capacity of the yard is 4 trains.  Then 

the probability that yard is empty is  

a) 0.237  b) 0.00237   c) 0.000237  d) 0.0237 

87. In a generalized Poisson Queuing Model, define 

𝑛 − Number of customers in the system  

𝜆𝑛 =  Arrival rate of customers given n in the system 

𝜇𝑛 =  Departure rate of customers given n in the system 

𝑃𝑛 = Steady state probability of n customers in the system 

𝑓𝑜𝑟𝑛 = 1,2,3, … 𝑡ℎ𝑒𝑏𝑎𝑙𝑎𝑛𝑐𝑒𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛𝑠𝑖𝑠 

A) 𝜇𝑛−1𝑃𝑛−1 + 𝜆𝑛+1𝑃𝑛+1 = (𝜆𝑛 + 𝜇𝑛)𝑃𝑛 

B) 𝜆𝑛−1𝑃𝑛−1 + 𝜇𝑛+1𝑃𝑛+1 = (𝜆𝑛 + 𝜇𝑛)𝑃𝑛 

C) 𝜆𝑛−1𝑃𝑛−1 + 𝜆𝑛+1𝑃𝑛+1 = (𝜆𝑛+2 + 𝜇𝑛+2)𝑃𝑛+2 

D) 𝜇𝑛−1𝑃𝑛−1 + 𝜆𝑛+1𝑃𝑛+1 = (𝜆𝑛+2 + 𝜇𝑛+2)𝑃𝑛+2 

88. In LPP, number of atmost solutions obtained by setting any 𝑛 variables among 

 (𝑚 + 𝑛) variables equal to zero is  

A) (𝑚 + 𝑛2)! B) 𝑛!  C) 𝐶𝑚
(𝑚+𝑛)

  D) (𝑚 + 𝑛)𝑃𝑚 

89. In a graphical solution of LPP, the optimal is at atleast one of the points  

a) on the boundary of the common region b) in the common region 

c) at the corner points of the boundary  d) none of these 

90. There are 1000 bulbs in the system; the survival rate is given below  

𝑤𝑒𝑒𝑘: 0 1
𝐵𝑢𝑙𝑏𝑠𝑖𝑛𝑂𝑝𝑒𝑟𝑎𝑡𝑖𝑜𝑛: 1000 800   

2 3 4
500 200 0

 

The group replacements of 1000 bulbs are Rs.100 and the individual replacement cost is 

Re.0.50 per bulb. The suitable group replacement policy is at the end of  

A) 1st week  B) 2nd week  C) 3rd week  D) 4th week 

91. 𝐹[𝑓(𝑥)] = 
1

√2𝜋
   





𝑓(𝑡)𝑒𝑖𝑥𝑠 𝑑𝑥, then F [
1

√𝑥
] = … 
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 A) 
1

𝑆  
  , 𝑠 > 0   B) 

1

√𝑠  
  , 𝑠 > 0 C) 

1

𝑆
3

2⁄
  , 𝑠 > 0 D) 

1

𝑆2
  , 𝑠 > 0 

92. 𝐹𝑐    (
𝑒−𝑎𝑥

𝑥
)  = ……… 

 A) √2
𝜋⁄   𝑡𝑎𝑛−1   (𝑠 𝑎⁄ ) +  𝑐   B) √2

𝜋⁄   𝑙𝑜𝑔 (𝑠2 + 𝑎2) +  𝑐 

 C) 
−1

√2𝜋
 𝑙𝑜𝑔 (𝑠2 + 𝑎2) +  𝑐   D) None of these 

93. In 𝑅  ×   𝑅 with usual metric, 𝑄  ×  𝑄 is 

 A) Closed  B) Not closed C) Open  D) Compact 

94. X and Y are two topological space  and 𝑓 ∶  𝑋 → 𝑌. Then the condition says “for every 

subset A of X, 𝑓 (𝐴̅)  ⊆    𝑓(𝐴)̅̅ ̅̅ ̅̅   ” is equivalent to say that f is 

 A) Closed  B) Continuous C) Closed and open        D) Homeomorphism 

95. The value of    
c

𝑒𝑧

𝑧−1 
   𝑑𝑧  where C is |𝑧| = 1 2⁄  

 A) 0   B) 2𝜋𝑖𝑒  C) 2𝜋𝑖 𝑒
1

2⁄   D) 2𝜋𝑖 

96. The value of  dzz
z





1

1   is ………………..  

 A) 0   B) 8   C) 2 𝜋 𝑖   D) −2 𝜋 𝑖   

97. The integral   


fdz ,  with continuous f, depends only on the end points of  iff 

 A) f is the derivative of an analytic function in  

 B) f is not derivative of an analytic function in  

 C) f is not well defined in     D) f is the function in  

98. Which one of the following is incorrect? 

 A) every open interval is an open set  

 B) every point of an open interval is an interior point 

 C) The set {
1

𝑛
  , 𝑛 ∈ 𝑁}  is open 

 D) every open interval is a neighbourhood of each of its points 

99. Given the function 𝑓(𝑥) =  {
1    ,    𝑥 ≠ 0
0    ,    𝑥 = 0

   ,  then 

 A) f has removable discontinuity of first kind 

 B) f has removable discontinuity of second kind 

 C) f has jump at x = 0     

 D) Both (A) and (C) 

100. The value of C of Lagrange’s mean value theorem if 𝑓(𝑥)  =  𝑥 (𝑥 –  1) (𝑥 –  2);   

 𝑎 =  0, 𝑏 =  1
2⁄     is ……………….. 

 A) 
1

4
     B) 

1

3
      C) 

6− √21

6
     D) 

6+ √21

6
   

101. Which one is incorrect? 
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 A) If (𝑙, 𝑚) are the direction coefficients  of a direction in the tangent plane of a surface  

                  at P, then the value of 𝐸𝑙2 +  2𝐹𝑙𝑚 + 𝐺𝑚2 is 1 

 B) The equations of the indicatrix are 𝑧 = 2ℎ, 2ℎ = 𝐿𝑥2  + 2 𝑀 𝑥𝑦 + 𝑁 𝑦2, then the  

   directions (𝑙1 , 𝑚1) , (𝑙2 , 𝑚2) will be conjugate if 𝐿 𝑙1𝑙2 + M (𝑙1 𝑚2 +  𝑙2  𝑚1 ) +    

    N 𝑚1  𝑚2 

C) If (l, m) are the direction coefficients of a direction then the magnitude of the vactor    

     


 21 r m   rl  is 1 

D) None of these 

102. Let 


r = 


r  (u, v) be the equation of a surface and let 𝐸𝑑𝑢2 +  2𝐹𝑑𝑢𝑑𝑣 + 𝐺𝑑𝑣2 be its 

fundamental form then at an ordinary point 

 A) 𝐸 > 0 , 𝐸𝐺 −  𝐹2 > 0  B) 𝐸 > 0 , 𝐺 > 0, 𝐸𝐺 −  𝐹2 > 0 

 C) 𝐹 > 0 , 𝐸𝐺 −  𝐹2 > 0  D) 𝐺 > 0 , 𝐸𝐺 −  𝐹2 > 0 

103.       𝑃𝑙𝑎𝑦𝑒𝑟𝐴 

  Value of  the game 𝑃𝑙𝑎𝑦𝑒𝑟𝐵 [
10 5 −2
13 12 15
16 14 10

] is 

 A) 
5

7
   B) 

3

7
   C) 90

7⁄   D) none of these 

104. An NLPP in which the objective function can be expressed as a linear combination  

of several different one-variable functions of which some or all are  non-linear, is called 

 A) a separable programming problem.  B) Convex Programming 

C) Quadratic Programming    D) None of these   

105. Choose the correct one 

I) The IBFS obtained by using NWC may be for away from optimum. And  

the IBFS obtained by VAM is very close to the optimum. 

II) If the number of occupied cells in less than 𝑚 + 𝑛 − 1, then the basic  

solution will be called degenerate 

A) I only true  B) II only true  C) Both are true D) both are wrong 

106. The initial value problem 
𝑑𝑦

𝑑𝑥
 = 

𝑦−1

𝑥
 , 𝑦(0) = 1  has 

 A) only one solution    B) No solution 

 C) more than one solution   D) None of these 

107. The bilinear transformation which maps 1, 𝑖, −1 to 2, 𝑖, −2  respectively is 

 A) 𝑤 =  
2𝑖−6𝑧

𝑖𝑧−3
  B) 𝑤 =  

𝑧𝑖−3

2𝑖−6
  C) 𝑤 =  

2𝑖−6𝑧

𝑖𝑧+3
  D) 𝑤 =  

2𝑖−6𝑧

𝑖𝑧−2
 \ 

108. P is a projection on a linear space X. Choose the incorrect statement 

 A) (I- P) is a projection on X  B) P2 = P  

 C) 𝑅 (𝑃)  ∩  𝑧 (𝑃)  =  𝜙   D) 𝑋 =  𝑅 (𝑃)  +  𝑧 (𝑃) 

109. For the function f(x) = |sin 𝑥|  , −𝜋 < 𝑥 <  𝜋 a0 and bn are respectively 
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 A) 
4

𝜋
   ,   0   B)  0,   

4

𝜋
   C) 

−4

𝜋(𝑛2−1)
   ,   0  D) None of these 

110. The Fourier transform of 𝑓(𝑥) =  {
1 −   𝑥2, |𝑥| ≤ 1
0 ,       |𝑥|  > 1  

 

 A) 
1

√2𝜋
  [

4

𝑠3  
   (sin 𝑠 + 𝑠 cos 𝑠)]     B) √2

𝜋⁄   [
4

𝑠3     (sin 𝑠 − 𝑠 cos 𝑠)] 

 C) 
1

√2𝜋
  [

4

𝑠3  
   (sin 𝑠 − 𝑠 cos 𝑠)]   D) √2

𝜋⁄   [
4

𝑠3  
   (sin 𝑠 − 𝑠 cos 𝑠)] 

111. Teaching machines designed by 

 A) Skinner  B) Crowder  C) Fletcher  D) Sydney Pressy 

 fw;gpj;jy; ,ae;jpuj;jpid cUthf;fpatH 

 A) ];fpd;dh; B) fpnuslH C) g;nsl;rH    D) rpl;dp gpnu];]p 

112. Paripadal belongs to 

 A) Padhupattu Nullgal  B) Pathinen keel kanakku Nullgal 

 C) Eitu thogai   D) Kurinji pattu 

 ghpghly; ,lk;ngWtJ 

 A) gj;Jg;ghl;L Ehy;fs;  B) gjpndd; fPo;fzf;F Ehy;fs;  

C) vl;Lj;njhif   D) FwpQ;rpg;ghl;L  

113. Mobile education recommended by 

 A) Ivan Illich  B) Mc Donald C) Stainer D) All the above 

 elkhLk; fy;tpapid ghpe;Jiuj;jtH 

 A) ,thd; ,ypr;   B) nkf;nlhdhy;L 

C) ];nla;dH   D) Nkw;fz;l midj;Jk; 

114. 10+ 2+ 3 pattern through India implemented in which year? 

 ehL KOtJk; 10+2+3 fy;tp Kiwia mKy;gLj;jpa Mz;L 

 A) 1976  B) 1972  C) 1979  D) 1982 

115. Theoritical thinking  skill – Intelligence advocated by 

 A) Wechsler    B) Binet  C) Stern   D) Termann 

 fUj;jpay; rpe;jidj; jpwid Ez;zwpT vd;W $wpath; 

 A) ntf;];yh; B) gPNd  C) ];nla;d;  D) nlh;kd; 

 

116. Level of Aspiration Insisted by 

 A) Crow & Crow    B) Maslow & Kohler  

 C) Tempo & Hope    D) David  Mc Donald 

 myhTepiy gw;wp $wpa mwpQh; 

 A) FNuh kw;Wk; FNuh   B) kh];Nyh kw;Wk; Nfhyh; 

 C) nlk;Ngh kw;Wk; N`hg;   D) Nltpl; nkf;nlhdhy;L 

117. “Lateral thinking” was written by 

 A) Edward de Beno  B) Maltse  C) Guilford   D) Kohler 

 gf;fthl;L rpe;jid vd;w Ehypid vOjpath; 

 A) vl;th;L B NghNdh  B) khy;B];  C) fpy;Nghh;L  D) Nfh`;yh; 

118. A person related to Gaidance  
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 A) Newsom  B) Hoyt  C) Tolbert   D) Rapport 

 topfhl;lNyhL njhlh;Gilath; 

 A) epa+]k;  B) `ha;l;  C) lhy;ngh;l ; D) Nug;gh;l; 

119. Which one is against for Behaviorism Concept  

 A) Cognitive Principle    B) Gestalt theory 

 C) Field study Concept    D) Instinet theory 

 elj;ijf; Nfhl;ghl;bw;F vjph;g;G njhptpf;Fk; tz;zk; cUthd Nfhl;ghL 

 A) mwpT rhh; Nfhl;ghL   B) KOik fhl;rp Nfhl;ghL 

 C) fs Ma;T Nfhl;ghL   D) ,ay;g+f;ff; Nfhl;ghL 

120. Identify the correct one regarding Non formal education 

 i) Adult education   ii) social education  

iii) Adult literacy   iv) functional literacy 

 A) i, ii only  B) i only  C) i, ii, iii only  D) i, ii, iii, iv 

 Kiwrhuh fy;tpapid nghUj;jkl;by; rhpahd xd;wpid NjHe;njL 

 i)  KjpNahH fy;tp  ii) r%ff; fy;tp  

iii) KjpNahH vOj;jwpT  iv) tho;f;if fy;tp 

 A) i,ii kl;Lk; B) i kl;Lk;  C) i,ii,iii kl;Lk;  D) i,ii,iii,iv 

121. “Stagnation of vocational education” explained by 

 A) J. P. Nayak B) V.K Nayar C) Venugopal Rao  D) Ramachandran 

 njhopy;rhH fy;tpapd; Njf;fepiyia tpsf;fpatH 

 A) J.P ehaf;    B) V.K ehaH  

C) NtZNfhghy; uht;  D) ,uhkr;re;jpud; 

122. The search for  what is right and what is wrong is called 

 A) Emotional Integration   B) Distance education  

C) Peace education    D) Value eduction 

 vJ rhp? vJ jtW vd;W tho;ehnsy;yhk; NjLfpd;w Kaw;rpNa 

 A) czHT+g;G+Ht xUikg;ghL   B) njhiyJhuf; fy;tp 

 C) mikjpf; fy;tp     D) kjpg;GzHTf; fy;tp 

 

 

123. Harbour of pandiya [seaport] 

 A) Thondi  B) Kavaripoompattinam C) Mamallapuram  D) Korkai 

 ghz;baHfspd; JiwKfk; 

 A) njhz;b  B) fhNthpg;G+k;gl;bdk; C) khky;yGuk;  D) nfhw;if 

124. Headquarters of UNESCO 

 A) Paris  B) Jenewa  C) New York  D) Dehaeck 

 UNESCO tpd; jiyik ,lk; 

 A) ghhP];  B) n[dptH  C) epA+ahHf;  D) jpN`f; 

125. Non classroom learing introduced by 

 A) John Holt  B) Mc Donald C) Francis parker  D) Steiner 

 gs;spf;F ntspNa fw;wy; fUj;jpid mwpKfg;gLj;jpatH 
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 A) [hd; `hy;l;   B) nkf;nlhdhy;L  

C) gpuhd;rp]; ghHf;fH  D) ];nla;dH 

126. “Article 24” emphasizes 

 A) Environment protection   

 B) Education to all 

 C) Prohibition of employment of children in factories  

D) Compulsory free education 

 murpay; rh\d Nfhg;G 24 $WtJ [ghpe;Jiug;gJ] 

 A) #o;epiyg; ghJfhg;G     B) midtUf;Fk; fy;tp  

C) njhopw;rhiyfspy; Foe;ijj; njhopyhsH xopg;GKiw  

D) ,ytr fl;lhaf; fy;tp 

127. Humanity, science, social work are of the component of 

 i) craft education  ii) work experience  

iii) SUPW I  v) self employment programme 

 A) iii only B) i & iii  C) ii & iv  D) All the above 

 kdpjNeak;> mwptpay; rKjhag;gzp Nghd;wtw;wpd; $Wfshtd 

 i) ifj;njhopy; fy;tp  ii) Ntiy mDgtk; 

 iii) SUPW     iv) Ra Ntiy tha;g;G jpl;lk; 

 A) iii kl;Lk; B) i & iii  C) ii & iv    D) Nkw;fz;l midj;Jk; 

128. A person related to Analytical Psychology 

 A) Adler   B) Carl Rogers  C) Maslow   D) Jung 

 gFg;G cstpaNyhL njhlh;Gilath; 

 A) ml;yh;  B) fhuy; Nuh[h;];  C) kh];Nyh  D) A+q; 

129. Who first laid Psycho Experiment? 

 A) Weber  B) Aristotle   C) Freud   D) Cat tell 

 cstpay; ghpNrhjidfSf;F tpj;jpl;lth;  

 A) ntgh;  B) mhp];lhl;by;   C) g;uha;L   D) fhl;ly; 

 

 

 

130. Hurlock related to 

 A) Mental development   B) Moral development  

C) Physical development  D) Social development 

 `h;yhf; vd;gth; vjDld; njhlh;Gilath; 

 A) kdtsh;r;rp    B) xOf;f tsh;r;rp   

C) cly; tsh;r;rp   D) r%f tsh;r;rp  

131. An Psychologist  kohl related to which Country? 

 A) Russia   B) Japan   C) America   D) England 

 Nfhy; vd;w cstpay; mwpQh; ve;j ehl;bid Nrh;e;jth; 

 A) u\;ah   B) [g;ghd;  C) mnkhpf;fh  D) ,q;fpyhe;J 

132. Which one is not related to external factors of Attention? 
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 A) Novelty   B) Movement  C) Intensity   D) Need 
fPo;f;fz;l ve;j xd;W ftdj;jpid jPh;khdpf;;Fk; Gwf;fhuzp my;y?   

 A) GJik   B) mirT   C) nrwpT   D) Njit 

133. Steps involved in Learning by Insight 

 cl;fhl;rp top fw;wypy; ,lk; ngw;Ws;s gbfs; 

 A) 7   B) 3   C) 4   D) 5 

134. SER = SHR x D x V x K – IR – SOR . This formula related to  

 A) Hierarchial Concept   B) Motivation Concept 

 C) Instinet theory    D) Drive reduction theory 

SER = SHR x D x V x K – IR – SOR vd;w R+j;jpuk; vjDld; njhlh;GilaJ? 

A) gbepiyf; Nfhl;ghL    B)  Cf;ff; Nfhl;ghL 

C) ,ay;G+f;ff; Nfhl;ghL   D) ce;jf; Fiwg;G Nfhl;ghL  

135. Group factor theory advocated by 

 A) Spearmann  B) Thorndike  C) Thurstone  D) Binet 

 FOfhuzp Nfhl;ghl;bid $wpath; 

 A) ];gpah;Nkd; B) jhh;z;ilf; C) jh;];ld;  D) gPNd 

136. Black foot diseased caused by the chemical 

 A) Fluorin  B) Nitrate  C) Sulphur  D) Arsenic 

 fUq;fhy; Nehapid Vw;gLj;Jk; Ntjpg;nghUs; 

 A) G@hpd;  B) iel;Nul;  C) ry;gH  D) MHrdpf; 

137. In which five year plan high priority was given to the family planning progress  

 A) Sixth B) Fifth C) Fourth D) Second 

ve;j Ie;jhz;L jpl;lj;jpy; FLk;g eyj;jpl;lj;jpw;F mjpf Kd;Dhpik 
toq;fg;gl;lJ? 

 A) MwhtJ  B) Ie;jhtJ  C) ehd;fhtJ  D) ,uz;lhtJ 

138. Durgabai deshmukh committee suggested 

 A) Special education  B) Womans education  

C) Physical education  D) Health education 

 JHfhgha; Nj\;Kf; fkpl;b $WtJ 

 A) rpwg;G fy;tp B) ngz; fy;tp  C) cly; fy;tp D) Rfhjhu fy;tp 

139. Who recommended preschool education 

 A) Piaget  B) Gandhiji  C) Pestolozzi  D) Froebel 

 ghyH fy;tpia gphpe;Jiu nra;jtH 

 A) gpahN[  B) fhe;jp[p  C) ng];lhy[p D) GNuhngy; 

140. “Schizo phrenia” is a kind of defence mechanism  

 A) Identification  B) Retionalization  C) Regression  D) Scapogotism 

 “\pN\hg;hpdpah” vd;d tifahd elj;ij 

 A) xd;Wjy;    B) fhuzk; fw;gpj;jy; 

 C) gpd;Ndhf;fk;   D) gypflh Mf;fg;gLjy; 

141. From which of the following countries, the concept of economic planning in India is 

 derived? 
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 A) Russia   B) USA  C) UK  D) Australia 

 nghUshjhu jpl;lkply; ve;j ehl;by; ,Ue;J ngwg;gl;lJ? 

 A) u\;ah  B) mnkhpf;fh  C) ,q;fpyhe;J  D) M];jpNuypah 

142. Match the following: 

  List – I    List – II 

 a. Radio Iodine I131    - 1. Blood Vessel blocks 

 b. Radio Sodium  Na24     - 2. Anaemia 

 c. Radio Phosphorous P32    - 3. Skin diseases 

 d. Radio Iron Fe59    - 4. Brain Tumor 

 nghUj;Jf: 

  gl;bay; - I    gl;bay; - II 

 a. fjphpaf;f mNahbd; I131  - 1. ,uj;jehs milg;G 

 b. fjphpaf;f Nrhbak; Na24  - 2. ,uj;j Nrhif 

 c. fjphpaf;f gh];gu]; P32   - 3. Njhy; Neha; 

 d. fjphpaf;f ,Uk;G Fe59    - 4. %isf; foiy 

  Codes: a b c d   a b c d 

  A) 4 1 2 3  B) 1 4 2 3 

  C) 4 1 3 2  D) 1 4 3 2 

143. Identify the true statement: 

 A) When a moving car stops suddenly, the person sitting inside the car falls  

    forward is by Newton’s First Law of Motion. 

 B) A bullet fired from a gun can pierce a target due to its kinetic energy 

 C) Surface tension of water helps Detergents in cleaning the clothes. 

 D) All the above 

 rhpahd $w;iw mwpf: 

A) XLk; fhh; jpBnud epWj;jg;gLk;NghJ> mjDs; cl;fhh;e;jpUf;Fk; xU  
egh; Kd;Ndhf;fp tpOtJ epa+l;ldpd; Kjy; tpjpiar; rhh;e;jJ. 

B) Jg;ghf;fpapypUe;J vhpf;fg;gLk; Fz;L> ,yf;if fpopj;Jr; nry;tjw;fhd  
   fhuzk; mjd; ,af;f Mw;wy; 

C) ryitj;Jhs;> Jzpia Rj;jk; nra;a cjTtJ> ePhpd; gug;G ,Otpir 

D) midj;Jk; 

144. What is the Chronological sequence of the following events? 

 fPo;f;fz;l epfo;Tfis fhythpirg;gLj;Jf. 

 1. [hypad; thyhghf; gLnfhiy  2. fUg;G rl;lk; 

 3. fpyhghj; ,af;fk;    4. Mf];L mwpf;if 

 1. Jallian Walabakh    2. Black Act   

 3. Khilafat Movement   4. August Declaration 

 Choose the Answer 

 A) 4, 1, 2, 3  B) 2, 1, 3, 4  C) 1, 2, 3, 4  D) 4, 2, 1, 3 

145. The Supreme Court of India tenders advice to the President on a matter of law or  fact 
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 A) On its own initiative   B) Only if the President seeks advice 

 C) Only if the matter relates to the Fundamental Rights of citizens 

 D) Only if the issue poses a threat to the unity and integrity of the country 

 FbauRj; jiytUf;F rl;lk; rk;ge;jkhf ve;j rkaj;jpy; cr;rePjpkd;wk; 

 MNyhrid $wyhk;? 

A) jdJ nrhe;j Kaw;rpapy;  

B) FbauRj; jiyth; MNyhrid Nfl;Fk; gl;rj;jpy; kl;Lk; 

C) mbg;gil chpikfs; rk;ge;jkhd nray;fspy; kl;Lk; 

D) ehl;bd; xw;WikiaAk;> xUikg;ghl;ilAk; ghjpf;Fk; nray;fspy; kl;Lk; 

146. Match  the following 

  District  –   Hills 

 A) Namakkal  - 1) Agasthiyar hills 

 B) Salem   -  2) Kolli hills 

 C) Vilupuram   -  3) Kalrayan hills 

 D) Thiruneleveli  –  4) Shervoroy hills 

 nghUj;Jf  

 khtl;lk;   -    kiy 

A) ehkf;fy;    - 1) mfj;jpah; kiy 

B) Nryk;   - 2) nfhy;ypkiy 

C) tpOg;Guk;   - 3) fy;uhad; kiy 

D) jpUney;Ntyp   – 4) Nrh;tuhad; kiy  

Code :  a b c d    a b c d 

 A) 2 4 1 3  B)  4 2 1 3 

 C)  2 4 3 1  D)  4 2 3 1 

147. Find true of the following in 2011 Census 

 1) Decade population growth in 2001 – 2011 is 17.64% 

 2) Kerala (93.9%) has the highest literacy rate and Bihar (63.8%) has the  

      lowest literacy  rate 

 3) Density population highest (1084/1S.km) is 

 4) Haryana is the highest Sex Ratio 

 A) 1, 2 true       B) 1, 2, 3 true         C) 1, 2, 3, 4 true  D) 1, 4, 3, true 

 rhpahdtw;iwf; fhz; (2011 – Census) 

 1) 2001 – 2011 gj;jhz;L kf;fs; njhif tsh;r;rp tpfpjk; 17.64% 

 2) Nfush (93.91) mjpf gbg;gwpT 

 3) kf;fs; mlh;j;jp mjpfk; (1084 / 1 r.fp.kP) – gPfhh; 
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 4) `hpahdh mjpf ghypd tpfpjk; 

 A) 1, 2  rhp   B) 1, 2, 3 rhp  C) 1, 2, 3, 4 rhp  D) 1, 3, 4 rhp 

148. The Olympic Game 2018 was held at 

 A) Russia  B) Britain  C) Japan  D) South Korya 

 xypk;gpf; Nghl;b 2018 eilngw;w ehL 

 A) u\;ah  B) gphpl;ld;  C) [g;ghd;  D) njd;nfhhpah 

149. True of the following: 

 1. August 19  -  World Humanities day 

 2. November 11 National Education day 

 A) 1 only  B) 2 only        C) Both of true  D) Both of not true 

 rhpahdtw;iwf; fhz;: 
 1. Mf];L 19 cyf kdpjNea jpdk; 
 2. etk;gh; 11 Njrpa fy;tpjpdk; 

 A) 1 kl;Lk; rhp   B) 2 kl;Lk; rhp  

 C) ,uz;Lk; rhp     D) ,uz;Lk; rhpay;y 

150. Best Parlimentarian Award for 2017 

 A) Nejma Habdullah  B) Gulam Nabi Azad 

 C) Dinesh Thiruvedi   D) Bharathru Hari Magedav 

 rpwe;j ghuhSkd;w cWg;gpdh; tpUJ 2017 ngw;wth; 

 A) e[;kh n`g;Jy;yh   B) Fyhk; egp Mrhj; 

 C) jpNd\; jphpNtjp   D) guj;U `hhp kfjht; 
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7  37  67  97  127 D 

8  38  68  98  128 D 

9  39  69  99  129 A 

10  40  70  100  130 D 

11  41  71  101  131 A 

12  42  72  102  132 D 

13  43  73  103  133 C 

14  44  74  104  134 D 

15  45  75  105  135 C 

16  46  76  106  136 D 

17  47  77  107  137 A 

18  48  78  108  138 B 

19  49  79  109  139 D 

20  50  80  110  140 C 

21  51  81  111 D 141 A 

22  52  82  112 C 142 D 

23  53  83  113 B 143 D 

24  54  84  114 C 144 D 

25  55  85  115 D 145 B 

26  56  86  116 C 146 C 

27  57  87  117 A 147 B 

28  58  88  118 B 148 A 

29  59  89  119 B 149 C 

30  60  90  120 D 150 D 

 

 


